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15U/104/4(Set-1)

No. of Questions : 180

el F wE 180
Time : 2 Hours ] [ Full Marks : 450
Wy 0 2 g2 ) [ qurfg: 450
Instruction ;
fordwr

This paper consists of Objective Type QuesHons and is divided into
Two Sections {1 & II) as under. |

T U¥-UF SEfAdedy WE W AR @ aon 2 @vel (1 vg 1) § fawem ®, SR
for 2 aPfg & :

(a) Section - I consists of 120 Objective Type Questians on General
- Awareness, Mental Ability, Comprehension and 3ubject Awareness in
some major subjects,

(@) WL -1 ¥ 120 sgRFl uva amm 99, wa0E Jrad), SRS ol §e
= fwal & e W NG €

(b) Section - II consists of 30 Objective Type Questions on (I} English
Language and {II) Hindi Lanpuage.

(@) @vg - I1 # 30 sefieatm uwm (D a0 9oy e 0D B o 8 M W

e &1

A candidate is required to atfempt as many questions as he/she can of Section-I,
and Questions on ANY ONE of the TWO Language papers (I) English OR {11}

Hindi in Section - [1.
Wi ¥ i aw-Iawaw-IaF AN /AN BRI sa &
s uw=t o &6 T |

NotelMT : (1) Bach question carries 3 marks. One mark will be deducted for each
incorrect answer. Zero mark wili be awarded for each unattempted
guestion.

mmaaﬁmmmﬂaﬁwa}mwwmmﬂm
YA ARG T P WIF O B

(3) P.1.0.

&
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15U/104/4(Set-)

@

3)

'f more than one alternative answers seem to be a;ﬁpmximate to the
v rect answer, choose the closest one.

3y et Jwferes ST Wl 9N @ P ww & a7 oo 9d
LR T

rach question is followed by Four alternative answers (1), (2), (3) and
{4). One of these answers is correct. Select the correct answer and
cexord it against the relevant guestion in the ANSWER-SHEET by
darkening the circle with Ball Point Pen as per guidelines.

TAT U @ ORIt TN e T ¥ A (1), (2), 3) T @)
Hel ¥ g T B | T W PAe U 9o9 @ 8 ¥ | 9d 9w gt
Gl SHP WEG @ TR-UF H aerwefl un @ wiwd Adear sie
! (Miellg) @ A1 QIgTE U9 N Gl Fe ey |

SECTION -1
w|rg — |

1. 'Clean India Campaign‘ was launched on:

(1} Noveraber 14

e AR

(1} F9gY 43

"Pecibei’ is

{1) Alkalinity of soil
(3) Air pollution

A @
(1) P =t

(3 g w71 Ao A

(2} January30  {3) October2
LT P G B T

(2) g9 30 T

4} August15
(3) 3R 2 By (4) IR 15 T
vsed o measure |

(2} Intensity of sound

(4) Radioachive radiations

AT B R -
& PR WO A (2) et H Traar 5 A5

(4) et Al oo

Wildlife ins'itute of India is located at :

(1) Bhopal {2) Lucknow
YRS &1 10l Gy e &
(1) A 5 (2) TEH H

(4)

(3) Dehradun (4) Nagpur

(3) IEgA W (4) QR o
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15U/104/4(Set-1}

The headquarlers of 'United Nations Environment Programme' is located at :

(1) Paris (2} Nairobi (3) New York {4) Washington

T W GHIEe SRS B e fem #

(1) ofve & (2) = F (3) gz § 4) af¥iren

The rnumber of agro-climatic regions of India are :

{1 15 2) 18 (3) 21 {4) 12

WRA ¥ FR-Srearyg uee @) W B

(1) 15 (2) 1B (3) 21 (d) 12
. - Which one of the following industries uses bauxite as a raw material ?

{1) Aluminium (2} IronandSteel (3) Cement {4) Fertilizer

frefeflaa § 9 19 Qe diTaTEe &7 QAT FET AT & RO W vy € °

(1) SqgrfRga (2) &% W gEm  (3) HhT (4) oRE

The largest biosphere reserve {in terms af area) of India is :

{1) Sundarban {4) Nandallevi (3) Nilgiri (4) Gulfof Mannar

IR I FOH T8l @EwE @7 gie W) vevediy AR (arfear Rod) ¥

(1) Grewa (2) =T <A (3) R (4) TR W W
. Which one of the following pairs is related with equaltorial forest ?

(1) Pine and Spruce (2) Olive and Cork Qak

(3) Mahogany and Rosewaod (4) Teak and Sal

frfefea = 9 9 o' Rggg Wi @ 9 =i 2 7

(1) 9T @ R (2) S TAT Bk NE

(3) FETHR T WAeigs (4) |PiA 2 T

Madhya Pradesh does not have common border with

(1) Maharashtra (2) Gujarat

(3) Andhra Pracdesh (4) Rajasthan

(5) P.T.0.
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15UM1D4/4(Set-)

10.

1.

12I

13.

wmﬁﬁmm T8
(1) TR F AR (2) o B W
{3) S WR¥ T HY (4} TR B TTA

Which one of the following pairs is not correctly matched ?

{1} lron ore - Bailadila (2) Copper - Zawar

(3} Bauxite - Koraput (4) Mica - Nellore
frfafaa ¥ ot-ar 16 gm wd afora T e ?

(1) &g arrer —~ Fendien (2) o1 — AT

(3) dfwdge — BRIYgE (@) 3w - TR

Which one of the following is called the 'sugar baw]' uf the world ?

1) Hawailslands (2} Mauribus (3) Java (4) Cuba
Prefofas § & &8 Ry o1 40 w1 penr Ber oy & 2

(1} &9 89 W (2) A (3) v (4) T
Highest productivity {per heclare} of groundnut is found in the state of :
(1) Guiarat {2) Andhra Pradesh

{3} Tamil Nadu {4} Karnataka

reelt & w0 3 swEa @y s far €

(1) o (2} g wew K

(3) Terg ® | (4} weice

Which one of the following pairs is not correctly matched ?
{1) Green Revolution — Food grains (2) Blue Revolutien — Fish

(3) White Revolution - Milk (4} Yellow Revolution - Floriculture
fafaftaa 5 @ @9 gm v wilo 78 &7 ;
(1) sRa =it — =ET= {2) AN wfa - A
3 wWawmfa —g9 (4) e wifRy — gedreare
(6)
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15U/104/4{Set-])

14. The correct sequence of the following states (in terms ﬂf population) in

186.

16.

17.

descending order is

(1) Uttar Pradesh, Maharashtra, West Bengal, Bihar
(2} Uttar I’rad_esh, Bihar, Maharashtra, West Bengal
(3) Uttar Pradesh, Maharashtra, Bihar, West Bengal
(4} Uttar Pradesh, Bihar, West Bengal, Maharashtra

ﬁmﬁ%ﬁﬁwﬁq&ﬁ}mwmm%
(1) ST W29, Aenms, uf¥es dma, RER
{2) TR TRV, R Aeng, of¥aw |@re
(3) SR WQE, WENE, [¥Ew uf¥ew Ime,
(4) S~ wew, fagr, 9f¥ew gwe, TR

The largest reserve of Iron m‘é is found in the state of :

(1) Odisha (2) Karnataka {(3) Jharkhand {4) Chhattisgarh
e v &7 waneE Oitg WsK Ui W #

(1) anfaer (2} wAEE, (3) Es § (4) wiETE 3§

Deltaic plain in india is an extension of ¢

(1) Khadar plain (2) Bhangar plain
{3) Tarai plain (4) Bhabar plain
T W ST AT <97 §o W ®
(1) @Ex 4979 @ (2) ¥R BRI %l
(3) T HEE @ (4y &R AT #
The largest river basin of Peninsular India is :
(1) Godavari basin {2 Mabanadi basin
(3} Krishna basin (4) Cauvery basin
(1) "rerad afE (2) werw R
(3) FoW AR (9) Fad Aew

(7} | PT.O.
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15U/104/4{Set-))

18. India's longest border is with : .

(1) China (2) Bangladesh
(3) Pakistan (4) Nepal
I & F9H T O 8
(1} 9= & a1 (2) TATRH B TYA
(3y o & 1Y (4) ATE & Aw
18. Along the west coast of India which state is most vulnerable to cyclonic storm ?
(1) Kerala (2) Karnataka {3) Maharashira (4} Gujaral
WA & IREA O B WoR BE-91 IR¥ ahar g § Head de ddene ¥ 7
(1) @ (2) weE (3) e (4) o
20. Period of retreating monsoon in [ndia is ;
(1) Mid December to mid-March {2) October to mid December
(3) June to September (4) Mid March to May
aa § Pk A ait safy & -
(1) weu Py Q we Ard (2) TR § wE AR
(3) ¥ | R | (4). men T W
21, We can know about early Vedic peﬁod from:
(1) [atak Katha (2} Yajur Veda (3} Rig Veda {4) Rajtarangini
HE IRTF A B AR H FA FE Ay e 8 7
(1) =S U (2) TRTE (3) =ag (4) IroreRfird
22. The first capital of Magadha was :
(1) Rajgir (2) Pataliputra (3) Gaya ' {4) Kumrahay
¥ P OEe wea el o 7 |
(1) e (2) wrfigs (3) 4) gwR
'23. The impertant port of Indus Valley Civilization was :
(1) AlamGirpuwr  (2) Lothal (3) Banawali (44 Mohenjodaro
firy et W HT FEEE SROTE o o7 ?
(1) srerriRge (2) =g {3) Fraen (4) wrETAYES!

(8)
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150U/104/4({Set-l)

24. The first Gupta ruler who took the title of Maharajadhiraja was :

{1) Samudra Gupta (2) Kumara Gupta
(3) Chandra Gupta (4) Skanda Gupta
9 S 9 7 A AT ERTRRTS o UEd uEe R T o)
(1) g | (2) g -
(3) == - (4) W=
25. The rules made for the Buddhist Sangha were written down in a book which
was called as :
(1) Vinaya Pitaka (2) Sangha Pitaka
(3} Sutta Pitaka {4) Niyama Pitaka
iz 9w F fog oo fod TY & 39 yiaE @ I oE oer & 7
(1) o foue (2) o9 fer
{3) % fas (4) e fes
28. Rajaraja [ belonged to which Dynasty 7
(1) Pallava Drynasty (2} Chola Dynasty
(3) Chalukya Dynasty (4} Rashtrakuta Dynasty
T W oy Torge | e o ?
(1) 9eg avr (2) &l 99
(3) @y TN {4) IMEEE Gu

27. The famous traveller Ibn Battuta who visited India during Muhammad bin
Tughlaq's rule was from :

(1} Afghanistan (2) Iran (3) Morocco (4¢) Abyssinia
g a7 SO Faee qeeg queie @ U o 3 aRa o A B &8 $
frarit o ? |
(1) smreE (2) FO= (3) Aant (4) s
28. Where is Humayun's tamb located ? |
(1) Delhi . (2} Agra {3) Sasaram (4) Lahore
A &1 Woe! Fal RuT ' 7
(1) e (2) (3) THERM (4) #ER
{9) P.T.0.
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15U/104/4(Set-)

29.

30,

31.

32.

33.

What is Dargah ?

(1) Resthouse of Sufi Saint (2) Tomb-of Sufi Saint

(3) Education centre (4} Praver Place

e 94T & 7 .

(1) @ o & R{m % (2) B T D AGA]

(3) Hafors g (4) WA I

Hyder Ali was the ruler af which state ?

(1} Cochin (2) Karnataka (3) Hyderabad (4) Mysore
BER arell & 398 w TS o v

(1) S (2) FcE (3) FEIEIg @) &R
Who was the first Governor-General of Colonial India ?

{1) Robert Clive {2) Lord Cornwallis

{3) Warren Hastings » {4) John Shore

Hudf¥e RA o1 QYR TER SR B o7 7

(1) IEE FeATRa (2) #T€ W

(3) A= e (4) WiE R

The policy of Dacirine of Lapse was introduced by :

{1) Lord Canning (2] Lord Dalhmusie

(3) Lord Wellesley : (4} Lord Curzon

it Rom 5t A e ey far @

(1) =g B (2} o8 SoE

(3) FE Jervel (4) ¥ T

Where was the permanent settlement introduced ?

(1} Bengal, Bihar and Jharkhand (2) Bengal, Bihar and Awadh
(3) Bengal, Bihar and Orissa (4) Bengal, Bihar and Central Province
el g wEl @n] T o ?

(1) =, fer v smavs () =, faEr sl sy

(3) &Ta, fae o =y (4) T7a, 48R SR wen Uid

(10)
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15U/104/4(Sst-)

34. 1In which year Delhi became the capital of India ?

By o fReh g @ wourh 779 °
1) 1909 (3 1910 (3) 1912 (4} 1511

35. Whichof the following Acts provided for Provincial Autonomy ?
(1) ‘Indian Council Act, 1909 (2) Govarnment of India Act, 1519
(3) Government of India Act, 1935 (4) Indian Independence Act, 1947

R ® 9 {5 U9 & SR W= @ &1 weee 5 w2

(1) wRdrT gfisg Yoz, 1909 {2) W wwer s, 1919
(3} WNE WREN Y7e, 1935 (4) wRT woEaT FRFRR, 1947
36. A 4B0 meter long train crosses a platform in 240 seconds. What is the speed of
the train ?
(1) 4m/s (2) 2m/s
3) 3m/s (4) Carmot be determined |
T Yo e T 480 MR & U wewH T 240 G5 ¥ UR o B
el @ ufy w2 ?
(1) 4 #rew /A% (2) 2 Hlexr/JF8 -
(3) 3 A/ dBE (4) Paffa =f o o7 T

37. Find the next term in the series :
frrer Aol & anTeT g F@T BRI 7
BAC, DBE, ECL, HDL, JEQ, ?

(1) FLR (2) LFR (3) LFT (4) FTL

3B. The average age of the boys in a class is 16 and that of the girls is 15 years. The
average age of the whole class is .

(1) 15 years (2) 15.5 vears
(3) 16 years (4) Cannot be determined

(11) P.T.O.
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3.

40,

41.

42,

43,

wF e H Jeal ot fwd 99 16 o @ wefFAl A 15 o ¥) WO we A

e 9= 2 |
(1} 1574 (2) 155 o
(3) 16 ¢ (4) FPufRa & @ =7 aod

A man travelled from the village to the post-office at the rate of 25 km/h and
walked back at the rate of 4 km/h, If the whele journey took 5 hrs 48 minutes,
find the distance of the past office from the village :

(1) 10 km (2) 15km (3) 20km (4) 25 km

T ofad oA e A o Jftew & aim 25 el /der o gv 9 aw oA
4 T/ oo & o ¥ I e B oy | urE § oW 5 Hey 48 e @ @
e Y e sl # TR Eh -

(1) 10 R (2) 15 farey 3) 20 (4) 25 s

What is the missing number in the following series 7 -
feforeae spaen ¥ g de 791 8 P
3,10, 17, 31,45, 66 ...%....
(1) 94 (2) 85 (3) 87 (4) 92
[f2A=3B=4C, then A:B:Cis:
Y 2A=3B=4C¥, & A:B:CEMM:
(1) 2:3:4 (2 4:3:2 3) 6:4:3 (4) 3:4:3

If the radius of a circle is increased by 25%, then area of the circle will increase
by

ofy frdY gu o Piemr B 25% w1 R Wi, o Swar SFwe 98 ST
(1) 25% (2) 37.5% (3} 50% (4) 36.25%
Which of the following fractions are arranged in ascending order ?

o A o P = oRrl R W aEneR 7

4 6 8 6 8 4 8 4 8 B8 B
1 e (. e 2 P et o 4 it P
(]ETB ()795 {3]957 ()97

Ut | da
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44,

45.

47.

15U/104/4(Set-1)

A two digit number is such that the preduct of its digits is 12, When 36 is added
to it, the digits interchange their places. Unit digit of this number is :

(1) 2 (2) 3 | 3) 5 {4) None of these

21 3B B TF AT T UUR A T o9 @] o queee 12 ) 39 e ¥
36 SeY H Gl B T B W YW 959 ST £ | AEE] 7 3P’ AF £

(1) 2 2y 3 (3) S (4) 301 & @ Tl

In an examination, the ratio of passes to failures was 4 : 1, If 30 students less
nad appeared and 20 less passed, the ratio of passes to failures would have
been 5 : 1. How many students appeared for the examination ?

(1) 150 (2) 120 (3} 100 (4} None of these

faredt w@am A et oty arpeliot BTt @ A 4 0 1 #) 9 ww wdEn & 30 W
w3 affe g2 810 our 20 ow wi Sl g8 E0. ot T aur sreiet e @
AT 5:1 31 Sar| 9% 9¥9en A g ean o wftafae g2 7

(1) 150 (2) 120 (3) 100 (4) TH | TS T

The numbers in the series change in specific order. Suggest the next number to
continue the series :

iy ¥ wemrd s ma wu A B g i @ @ wen @ ol anTelt W @t

TG
36, 28, 24, 22, ?

(1) 20 ) 22 (3) 21 4) 23

The number of Indian States after the formation of Telangana is

FEAT T A AN D T R B A o @ R
(1} 27 (2) 28 (3) 29 (4) 30

As long as substitution effect dominates the income effect, the labour supply
curve is

{1) positively sloped (2] negatively sloped
(3) backward bending (4} shift towards right
e % YRR W A yWrg 0% BT TR & A @ gfd me e B
(1) AFRIAS H9 F o4l (2} TPRIHE 1 H g
(3) dTe ¥ R g g (4) wE ik Rawes o 8
(13) | PT.0.
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15UH04/4(Set-)

49. Which of the following is not a determinant of Human Develapmeﬁt Index

(HDI)?
(1) Longevity (2) Infant Mortality
(3) Decent Standard of living (4} Educational attainment
P & @ &y a1 o e (Eodloaigo) &1 WUe® 78 5 °
(1) dofy . (2 Rrg TR
(3) oTeBT Wiaw ®R | (4) s suwfly
§0. Which of the following is tantamount to absence of taxation ?
{1) Taxevasion {2) Tax transformation
(3) Tax capitalisation (4) Shifting of tax
frm % & @ o sufefa & g e 7
(1) T A (2) T WUFAT
{3) F% T (4) &% & fdgas
51. .Fur substitutes, cross elasticity of demand is:
(1) Positive (2) Negative
(3) Zero {4) Always less than one
wrg= @ R st o a2 SRl B
(1) e | (2) SO
(3) T= (4) T IS ® FH

82 Which of the following head is et included in non-plan revenue expenditure
of Government of India ?

(1) Interest payments {2) Subsidies
(3) Grants-in-aid (4) Loans to public enterprises
Pre % @ wEn v wRe R @ tedonn v er ¥ ufsfag 9w
AT 7
(1} =|TH PR (2] 39
(3) FWEA YA (4} ErEafe Wl #Y s
(14) ‘
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1§U104/4{Set-1)
§3. The number of countries which are members of World Trade QOrganisation
{WT) at present, is :
gaaa ¥ fovg =R WiEd (WTO) & dewr <9 & dw &
(1) 160 2) 159 (3) 150 (4) 140

54. The ministerial conference of W.T.O. in 2013 was held in the city of :

(1} Sealtle {2) Bali (3} Singapore {4) Cancun
g 2013 3 Seo Flo 3o &1 A3 FHeA e I1ER F gay or ?
(1) Reres (2) =l (3) Ry (4) BT
55. The law of demand relates to
(1) Price - income relationship (2) Price - cost relationship
(3} Price - demand relationship {(4) Price - supply relationship
\ @ Fraw wEtag g
{l) O W R (2) HEE-ATTT HERT U
(3) W wEE R (4) ToO-ga aa |
86. For perfect substitutes, the value of cross elasticity of demand is :
(1) Zero {2} Negative (3} Positive {(4) Infinite
o7 WO a3l H, | B IS iy @ A B
(1) I= (2) O (3) wAETE (4) I

57. When the indifference curve is 'L' shaped, the two commodities are :

(1) Perfect complements (2) Perfect substitutes
(3) lmperfect complements | (4) Imperfect substitutes
e STl 93 L STE 1 AL oY 1 Ay B #
(1) yoiern & - 2y yoiaem afewema
(3) 9l 7 (4) ST S
(15) F.T.0.
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58. A market in which several firms sell differentiated produced is termed as :

&0.

81,

62.

(1) Discriminating monopoly {2) Monopolistic competition

(3 Imperfect competition . (4} Oligopoly

v T R i wil R gl dod £ we o &

(1) fverss Eldew (2) varEeEe wiee

(3) el gftrefiren (4) FEnEEN

.If marginal cost is above tﬁe average cost it impiies that ;.

(1) Average total eost is rising (2) Average total cost is falling

(3} Average variable cost is rising (4) Aver;-ige variable cost is falling
#fy drr are AT A § SR 9L o gweT aed @

(1) et 3w omie ag <& & (2) Bt AT @ e W @

() dMwa RTENT arT @ @} Siven afted i wrd ue o &
If V denotes value of money and P denotes price level, then value of meneay will
beequal to: '

TV g5 @ g B P v @) Pifte ovar & ot 521 77 e R
TR EFTT 7 ~

() P 2) P/V" ) v (4) P=V
Which of the folicwing is not an.nbjective of monetary policy 7

(1) Exchange rate stability {2) Price stability
(3} Resource mobilisation {(4) Economic growth

et 3 & @ Ww MR @ Stw @ 20

(1) fafm g2 femar . 2y T R

(3) WA ger | (4} snfdes wgfy

A group consists of 8 students. Flow many teams of 3 students can be formed ?

U WE ¥ 8o ¥) 3wl oY Rt O I wwdt & 2
(1} 20 (2) 40 (3) 56 (4} &0

{16)

L]
gcollegedunlae
India’s largest Student Review Platform

T



15U/104/4{Set-1)

83. Which variable is manipulated or varied in strength by the experimenter

during a psychological experiment ?

{1} Dependent variable (2) Extraneous variable

{3} Independent variable (4) Controlled variable

el e o § e s B = w1 wEeew W I9a g #
qRad= T smar g ¢

(1) anf¥e =7 . (2) & M

(3) ¥|aHA TX [4) Frafa ==

In which type of observation, 'the observer becomes a part of the group being
observed' ?

(1) Maturalistic observation {(2) Participant cbservation

{3) Controlled observation (4) Non-participant observation

f qoR & YT ® WOt 96 WE @1 oF &1 R & fowen veer fe
W1 TET 'Y ? |

(1) Wi wew (2) T fagor

(3) Ftse Sy (4) gAY Heror

What is the age span of Piaget's preoperational stage by which 'object
permanence’ gets established ?

(1) 0-2 years (@) 11-15 years
{3y 7-11 years (4) 2-7 years

ot # 7 ExfrTere sEwer WY 9% & T wrllewer wifta @ W €

EHH ATY-FTH A E 7

{1y 0-2 =¢ | @ n-1s=
(3) 7-11 79 (4) 2-7 ad
The duration of which type of mexﬁury is less than one second ?
{1) Episodic memory (2) Short-term memory
(3)  Sensory memory (4) Implicit memory
frd goR 91 Wt 71 1| U S T wH g ¥ 7
(1) weTes e L (@) gl S
(3) dadg =i (4) FFuas i
(17) | P.T.0.
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87. If a person has to choose between either 'going out o Et'ljﬂly a picnic with one
group of friends’ or 'going out to enjoy a movie with another group of friends’
then what would he/she be experiencing ?

(1) Approach-avoidance conflict (2) Appmach-appmach conflict

(3} Lack of presence of conflict - (4) Avoidance-avcidance conflict

it G ol @ W @ e waE B g Uefer @ g sanr s s
& TH-EE WY B A R W@ w1 aFe 9o $ﬁﬂwmiﬁa’rﬁ
T WA B IS BAT 7

(1) ITFIU-ofER £ (2} arra&nr-eaﬁéur EEC]
(3) g5 1 SuRAfT &1 g (4} wRER-vREr o=

6B. 'Attributing one’s own traits or .characteristics to another persen’, refers to
which defence mechanism ?

(1) Reaction formation | (2 Rationalization

(3}= Projection (4} Derual

O o SR e W OqE W oamifta exer, few gwen gfw @ g
ey 2 7

(1) wfafrar fAwior (2) TEmETHET

(3) wemo . (4) IEETERT

89. The term ‘Eustress’ refers to the stress which :
(1} disturbs the equilibrium of an individual
{2) remains under control of the individual
(3) emerges from imaginary sources
(4) is required for reaching peak performance

R UE T ARy 99 q9T ¥ & i
(1) Frelt afd & wgem = Rt =

(2) =fea & qof Fraor § &

(3) FEE WT A A 8

(4) T=ew &7 Hmed wR @ oy amaees 8

- (18)
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73.

74,

15U/104/4{Set-1)

What does the individual's "underlying potential for acquiring skill' refer to ?

(1) Aptitude (2} Aftitude (3} Intelligence (4} Ability
i @ "PIA AAT T FFHART HRar’ BT W7 oy & 7
(1) s (2) sfgha (3 ¢& {4y Frgor

According to DSM-TV system of classification of mental disorders, the patient is
evaluated on how many axes ?

TR R % SorEerro-IV TiRT B argaR Of of st e sE W
fdar SAar 2 7

(1) 3 @) 5 (3) 4 {4) 6

What is the formula for Intelligence Quotient (IQ) in terms of Mental Age (MA)
and Chronological Age (CA) ?

(1> CA/MA _ (2) (CA/MA) = 100

{3y MA/CA {4) (MA/CA) » 100

qAfHE T (Ao 37fe) T HeTgw v 3 (Fo 37o) & TRl H IHF AT Tons. &
WA ETE? ' |

{1} e Ho/Ho o (2) (@it 3ro/A0 aie) x 100

{3) Wlo Mo /T Ao (4) (Ao &o /Tl e} x 100

What does the term 'delusion’ refet to ?

{1} False perception (2) Falze belief

(3) False memory ' (4} False sensation
“Bfgwa” g d e Al & 7 .

{1y Tear smom (2) fHezm s
3y T wfey (4) ﬁfrsm ESECaih

Which psychotherapy is based on the laws of classical and operant
conditioning 7 ; _

{1} Psychodynamic therapy (2) Behaviour therapy
(3) Cognitive therapy (4) Existential therapy

{19) | PT.C.
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75.

76,

78.

aﬂ?—ﬂiﬂﬂﬁaﬁﬁmmﬁqﬁqﬁiﬁiﬁmﬁfmﬁw$ﬁﬁﬂwﬁﬂ%?
(1) 7ArTeTEs fafere (2) =EEwa e
(1) wseaE o (4 FRamad Rfes

As factors influencing attitude change, 'Credibility’ and ‘Atiractiveness' are the
characteristic of which of the following ?

(1) Source (2} Message

(3) Target ' (4) Existing attitude

PRy oRags @ wfaa &R oo Y & w1 A Ryeadasr o amedor
Frafafas 9 & o RRa € 7

(1) &a : (2) W

(3} e (4) Tt wfRgfer

What is "Attributing own success to internal but that of others to external
factors' known as ?

(1) Actor-observer effect {2) Attribution error
(3) Impression formation {4) Equitable attribution

WA HEE H ST ARG T A T WA B A TRAFRE A T
fa =i & o W R 7

(1) Iy ar-Seraal wrg (2) FRORET Ffe

(3) uron i _ (4) From mEmREeT

"Reduction in ane's own individual effort when working an a collective tasks”,
is indicative of which of the following ?

(1) Social cohesiveness (2) Social facilitation

{3) Social cognilion (4} Social loafing

"l T T o w0 WHY oaw Ffeintg vae @ qfiAe e @4 e,
frefaftae 4 9 Rraer gue & ?

(1) s Tufdn (2) arRre guErdtex

(3) |RIfoT® |5 (4) ¥ sigiReifie

Whe among the following wrote 'Anand Math' ?
(1} Bankim Chandra Chatterjee (2) Ishwarchandia Vidyasagar
(3) Subhash Chandra Bose . (%) Ras Bihari Bose

{20)
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15U/104/4(Set-l)

frerifra d 9 fra= A v R 2 7

(1) @fmraes vl | (2) v W ewrR

(3) {9y T 91 4y ¥ el 9

:Wlhﬂ among the following Indians attended the p;rliament on World Religion
in Chicago in 1893 ? -

(1} Rabindra Nath Tagore (2} Vivekanand

(3) Mahatma Gandhi | (4) Gopal Krishna Gokhale

Feaifea # & frm T 3 Rt ¥ 1893 % 7 fargy 7

(1) s T 2R (2) e

(3) wHare M (4) TUTA T TG

The untouchability (offence} Act was passed in the year :

areqeTeT (sroen) s R ad oRe g 7w 2

(1) 1860 (2) 1855 (3) 1950 (4) 1955
In which year the Hindu Marriage Act was passed ? |

feve =% feg Rrare sffraw ailkg gan °

(1) 1950 (2) 1955 (3) 1961 (4) 1980
“The Dowry Prevenfion Act was passed in the vear

Tt P affrs R o mfRe gom ae 2

(1) 1550 (2) 1960 (3) 1961 (4) 1970
Who among the following was proponent of the total revelution ?

(I} Mahatma Gandhi | (2) Jawaharlal Nehru

{3) Jay Prakash Narayan (4) Subhash Chandra Bose
freifea & 9 #W wwoEta 3 WOy @ 7

(1) #rew widh (2) AN T W

(3) 99 UHET AR (4} HHIY T 9

(21) : P.T.O.
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84. Who among the fallowing was the First Indian crowned as Governor General

of India ? .
(1) Chitranjan Das (2) Mahatma Gandhi
(3) C. Rajgopalachari {(4) Purushottam Das Tandon
fifeEg § FF guF AR w® e i o @t 3eEr % OR @ e
oy T ¢ |
(1) Fra T (2) AT TR
(3) o YR (4) TOURE T €84

BS. Social Sciences are based on:
(1) Observed consequences (2} Speculated consequences
{3) Personal consequences , {(4) Imaginary consequences
wfors famm s &
(1) araetidd Rl «® (2) g ufemEf @
(3) Faftmes ofiom = (4) Freafe qRom w

86. The Widow remarriage Act was passed in the year :
foprar qAfdare foma. o RO T AR ®

(1) 1850 {2) 1855 (3) 1856 (4) 1857
B7. Who was the first Indian Lady Astronaut of NASA (U. 5. A.)?

(1} Sunijta Williams {2) Kalpana Chawla

(3} Kamla Devi (4) Shivaru

Yo THo To ® AT § TE A BUH ARG AR Sre dsniee 8 7

(1) g fafoamg (2} HEAT AT -

(3) THAT BH (4) Bra
88. Where is Diamond Harbour situated ?

(1) Chernnai (2) Thirzvanantpuram

(3) Kualkata (4} Mumbai

SIS FREY HET g & 7

| (1) o=% (2) eyTgH
(3) HIABET | (&) 7R
(22)
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89. The Panchsheel' was projected by Jawaharlal Nehru to 1
romote allian
between which of the following countries ? i -

{1} India - Pakistan (2) India — China

(3) India-U.8. A. (4) India- U. K.

Feffeg b 2o & @to & o=y &g waee = 98w o vadte g
fm Ty ? .

(1) AR ~ M (2) HRT - 99

{3) IRT — HyFw U=g AR (4) 9RT — gAgeE fhem
80. Panchayati Raj system was first initiated in which state ?

(1) Bengal (2) Rajasthan

(3) Andhra Pradesh (4) Uttar Pradesh

s oy A wdyers dardt o arawer w g ?

(1) el (2) o=

{3) 3T "W (4) IR w=_W
91. Which one in the following is not among the 'Four Purusharthas’ ?

(1) Dharma (2) Artha (3) Kama (4) Niyoga

i § & B9t or gt & g E v

(1) =4 (2) wied (3) =™ (4) frae
82. The concept of ‘Satyagraha’ was coined by :

(1) Balgangadhar Tilak (2} Gopal Krishna Gokhale

{3) Mahatma Gandhi 4) Ram Manohar Lohia

FATE B S@eneen 31 §or B

(1) 9t R e 5 (2) WA e TrEer

(3) AR MR A (4) T WY @fggr A

93. The muscies found in the front of our thighs are :
{1) Quadriceps (2) Biceps (3) Gastroomemius (4) Triceps

TR W ® &Y Wiy A urh S A dtaaed §

(1) FfEs (2) AW 3) ifEfTe @) s
{(23) . P.T.C.
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84.

7.

98.

What substance are nails made of ?

(1) Collagens (2) Keratins {3) Cellulose (4) Myosin
e P vl & w9 B 2 2

(1) BT (2) e (3) HgEra (4) AR
Which system contains both bone marrow and the thymus ?

(1) Endocrine (2) [mmune (3) Nervous - {4) Circulatory
frg g ¥ SR o o ST arfde BRT F 7

(1} TR (2) T (3) ORL L
Pace maker in the human heart is located in :

{1) Rightatrium {2) Leftatrium

(3} Pulmonary aorta -~ {4) Systemic aorta

AT BeT & U9 dow iy 2T 7

(1} =T amiors 4 (2) af anfery #

(3) R WEREA ¥ ' (4) Refue A A

The colered part of the human eye that controls how much light passes through
the pupil is called the : |

(1) Rebna (2) Cornea {3) Iris (4) Pigment ceils

Y YR T aF Tm AT o 1 ge e | 2 qoelt | fRem gam
T, T8 8

(1) e (2) wifa (3) mgR= (4) T FIHN
The blood cell type responsible for oxygen transport is :
(1) Lymphocytes (2) Erythrocytes
(3) Platelets | (4) Monocytes
T ST W B WeN Hfadtos §9e @ forg soardl 8 7
(1) ferprares | @ cReeEes
{3) <dcH (@) AFENEES
(24)
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89. The vitamin that contains a metal jon is : ,
(1) Vitamin A (2) Vitamin By,

(3) VitaminB; {4) Riboflavin

faefm o ow vig s B sl s 2 8

{1) faerfm ¢ (2) fefE 4

(3) Rl & (4} EETERE
100. Which is the first illness that was attributed to an animal carrier ?

(1) Rabies (2) Smallpox (3) HIV (4) Malaria

B g fwh o arEe & w7

(1) ¥ (2) wfoiRT {3) THo AR fe  (4) Wl
101. Wlﬁdl disease is not correctly paired with the nutrient or vitamin that prevents

it

(1) Niacin - tuberculosis (2) Iodine - goitre

(3) Vitamin C - scurvy (4} Vitamin D - rickets

ﬁﬁﬁﬂmmaﬁﬂﬁwéﬁﬂmmﬁmﬁﬂﬂ?ﬁﬁ%ﬂﬂ TATE T

(1) PR e (2) Ty

{3) feefam C - =it (4) e D-Raew
102. Which disease has been completely eradicated ?

(1) Smallpex _ {2) - Hepatitis

(3) Heliobacter pylori (4) Leukemia

T 9 e W B Ol v & e e & 7

(1) witerdfed (2) #oergfew

(3) *feriiaes wrmerd) - @ =gfaf | |
103.  Folic acid, which is found in oranges, prevents which of the foliowing ?

(1} Scurvy (2) Birth defects

{(3) High blood pressure (4) Dementia

RIS o W B Hodl o w5 @ Rrad Swurd wear 8 2

(1) vt (2 7 fadeae |

(3) B8 =E WK (4) TEufamm

(25) P.T.O
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104.

108.

106.

107,

108.

What is the process of sterilizing milk called ?

(1) Purification (2} Pasteurization

{3) Clostridization {4) Refrigeration

it g B T @) e T

(1) e | (2) OGRS

(3) FARESHWEA - (4) Rfrere

Majar source of lactose is : _
(1) Milk (2) Cane-sugarjuice (3) Liver {4) Rice
e o ST W ©

() = (2) T B S (3) 7Fq (4) =

Who of the following acted as the Constitutional Advisor to the Constituent
Agsembly ?

(1) B.R. Ambedkar (2) Dr. Rajendra Prasad -

(3} B.N. Rao {4) Dr.Sachchidanand Sinha
st w3 ddufre guEER o e 3 e A e o fe
(1) @ IR0 FRTHFR (2) Sfo TISFR TR

(3) o To @ (4) Sio wiagmg H=

Into how many parts has Indian Constitution been divided ?
WA e @t fra amt 4 fafem R o ? |

(1} 7 {2) 11 (3 21 {4) 22
The States Reorganisation Act, 1956, divided the entire country into :
{1} 22 states and 9 union territories

(2} 14 states and & union territories

(3) 17 states and 7 union territories

{4) Four categories of states

(26
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Re VeReT tae, 1956 % Tl e B R f
(1) 2295y ok 9o witm wiwr & :

(2) 14 759 3R 6 Fg il wover o

(3} 17 Wr=g R 7 Hy wing w2y A

{4) Tt & T Py

108. The following states were created after 1960. Arrange them in ascending
chronaological erder of their formation.

(a} Haryana (b} Sikkim (¢} Nagaland (d) Meghalaya
(1) (a).{b), (), {d) (2} (b}, (c), (d), (a)

() (b) (d). (a), (0 (4) {<). (a), {d), (b}
1960$mmﬁﬁﬁ?ﬁmawmﬁﬁﬁﬁnﬁmmw-ﬁaaﬁ§q%ﬁm
PH X T ARG PR |

(o) wfrmmom (a) Fifrmw (6) T (@) AwrEm

1) @) @& & @ @ @ @), @ @)

3) @ @ 6@ W @ e @

110. Under which article of the Indian Constitulion can the President be
impeached ? .

{1) Article 356 (2) Article 75 {3} Article 75 {4) Articlesl
W wiee & {5 s W semig TRy $T ey S wn wer @ 7

(1) SAg=e 356 {2) sasg 75 (3) /=0y 76 (4) TR 61

111, Who among the follewing are appointed by the President of India ?
(a) Governors of states
{b) Chief Justice and judges of High Court
(c) ChiefJustice and judges of the Supreme Court
(d} The Vice-President

Select the correct answer from the codes given below :
(1} (a) and (b) () (a), {c) and (d)
(3} (a) (byand (d) (4) (a), {b)and (c)

(27) P.T.O.
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112

m%wﬁr%mﬁw&ﬁaﬁﬁaﬂﬂﬁgﬁmmm%?
@) T P TR

(@) g Ry o S R & SR

(8) e iy o wdiE R W S

(7) F9-Tmgraie

Ay PR we | A IR @ g™ B

(1) @& IR E @ @), (@) i @)
(3) (@), @A & (4) (@), @) IR (F)

The President can impose his rule in a state on account of failure of
constitulional machinery under :

(1) Article 356 (2) Article 361 {(3) Article 371 (4) Artcle 379

. ﬂmaﬁﬁaa%wiaﬁ&mﬁmmﬁaﬁ%qﬁs‘lmﬁ%mwﬁwﬁ

113.

114,

AT Y AN &% G B 7

() spmEase () RNl () WL (4) yFwEin

Who presides aver the joint sessions of Parliament ?
(1) the Vice-President -

(2) the Speaker

(3} the President

{4) the Speaker and Vice-President by rotation

mifefarie 9 WYaT W9 B SR P e § 7
(1) Su-xrgufe

- {2) e

(3) wrgufe
(4) waw R oIy TE-TE |

Who of the follewing enjoys the distinction of bemg the first Muslim President
of India ?
{1) Maulana Apul Kalam Azad (2) Fakharuddin Ali Ahmad
(3) Zakir Hussain (4) Fazal Ali
" {28)

L]
gcollegedunlae
India’s largest Student Review Platform

—



15U/104/4(Set-l)
Rd B A JRAT I Tl T 1 S e e § 2

(1) AT AT T S (2) wEEEd el sEwe
(3 iR gé (4) wwe SR
115.  The Comptroller and Auditor General of India does not audit the accounts of ;
(1} State governrnent (2) Government companies
(3) Municipal bodies (4) Union government
T @ FEeR AR sifser T e @ seTee T ot mee & 7
(1} =0 IR (2) TR Ffgt
(3) T Py (@) o oY

118.  Which of the following Lok Sabha was dissolved before the expiry of its narmal
term and fresh elections held before the due date ?

(1) third (2) fourth
(3) fifih (4) none of the above

ﬁmﬁﬁﬁ?ﬂaﬁmwmﬁaﬁmmﬁrﬁmﬁa%mﬁ#ﬁ@ﬁﬁ
T S sES freffa B | 9 e g g

(1) T 2) =
(3) drEET (4) TURRERT Hig A&l

117. Consider the foliowing statemenis regarding the governor of a state : -
(2) The governor is the constitutional head of the state,
(b) The governor always acts as an agent of the centre.
() The governor is an integral part of the state legislature,
(d) The governor appoints the judges of the High Court.

Of these statements :
(1) {a)and {c) are correct (2} {a), (c} and (d) are correct

(3} (a)and (b} are correct '(4} (b}, (¢} and {d} are correct
| (29) PT..
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T B ARITE & e A P we o) R e
(a) YUY Tew B WS wHe g @

(b) el 4T 3 @ Toie B w9 FH IR ¢
(0 THuTE We SwerEr & S AT 8
(d}mmwﬁmﬁmﬁfﬁﬁgﬁm%

g9 P H ¢
(1) (a) AR ()& B @ @ (o) 3R () T ¥
(3) (a)siR(p)WEr & (4) (o), (c) SR (d) Wt &

118. Who of the following ladies served as Chief Ministers in different states of
India ? '

(a) Janaki Ramachandran
(b} Nandini Satpathy

() Rajinder Kaur Bhattal
(d) Syeda Anwar Taimur

Select the correct answer using fnlidwing codes :

{1} (b)and (c} (2) (a) arid (c}

(3) (a)and (d) ~ {4) (a), (b)and (d)

Ay e 3 Feed ARG & AR vl @ qErd & e % w0 R § 7
(a) DT THEEA

(b) et womeh

(c) =T TR 9
(d) WE R AR

= Tl ¥ ¥ w8 g Eﬁq :
(1) (b}4R () (2 {a) R ()
(3} (a) &R (d) (4) {(a), (b) 3= ()

(30)
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119.  The vacancy in the office of the Vice-President -
(1) has to be filled within three months
(2} has to be filled within six months
{3) has to be filled within a year

(4) has to be filted within reasonable time, as there is no time limit prescribed
in the Constitution

ST B S F @e erT B e iy -

(1) oF 78M & da

(2) & A€ F v

(3) & wg @ iR

(4) Gﬁamwwmﬂﬁqmﬁ%ﬁﬁmﬁwmﬁmﬁmﬁﬂﬁﬂﬁﬁé

120, Which ore of the following rights is available only to the citizens within the
territory of Indija ?

(a) freedom of speech

(b) right to form associations or unicns

(¢} equality before law

(d) freedom to assemble peacefully without arms

Select the correct answer using the code given below :

(1) {a), (&) and (d) - {2) (a), (b)and (o)
(3} (b), {c) and {d} (4) (a), (c) and (d)
HRAH 43 A ARe B e § § Bw afrer g € ¢
(a) sfvreafde @ wwomm

(b) TENENEA 77 gfFae 157 R B IReR

(c) T[T = ET HHTET

(d) B Bt @ ettt ofe R THeE B @ afER

F= 3z & 9 98 STv o1 =39 Sy
(1) (a), ()3 (q) ~ 2) @), (b) 3 ()
(3} (b}, (c) e {d) @) (a), () 3 (d)
(31) P.T.0.
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SECTION - |
v - 1l
LANGUAGE : ENGLISH
{Far Candlidates Opting English Languags)

Note: Four alternatives are given as possible answers to each question. Give the
correct choice as an answer.

Questions 121-12¢ : Select the word mearest in meaning to the given word :

121. Colossal :
{1} evil (2) colourful (3} gigantic (@) athletic

122, Verisimilitude:

(1) artifice (2) similarity {3) diifference {4) realism
123. Fragile:
{1} sturdy (2) tough (3) hardy  {4) frail

128, Immoral:

{1} clear (2) licentous {3) punctual (4) good conduct
Questions 125-128 ; Choose the word appaosite in meaning to the given word :

125. Universal:

(1) global (2) general (3) particular {4} main
128. Eccentric:

(1) normal (2) peculiar (3) abnormal {4) simple
127. Eternal:

(1) permanent (2) perpetual (3) transitory {4) iuniversal
| (32}
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128, Vulgar:
(1} ribald (2) indecent {3) timid (4) refined

{uestions 129-132 : Select the word which can be substituted for the given group of words :
128. Onewho ;acrit“lces his life fér a cause: | |
(1) soldier {2} martyr | {3} remlutit':mary {4}- patriot

130. A disease which is spread by contact :
{1} *mntaginus (2) infectious (3) spreading (4) epidemic

131.  The life story of 2 man written by himseif :
(1) Autobiography (2). Biography
(3) Life story (4) Philosophy

132. One who eats everything :

(1) camivorous {2) herbivorous (3) Omnivarous  (4) Omnipotent

Questions 133-136 : Chaose the misspelled word from each graup given below :

133. (1) Temprﬂtur? (2) Temperature {3) Allottee (4) Vehicle
134. (1) Exemplary (2) Embarass {3) Emrioqs (4) Excelent
138. {1) Casual (2) Candid {3) Conversent (4) Catastrophe

136, (1) atmosfere  (2) atmosphere (3} conference  (4) confinuous

Questions 137-140 ; Fill in the blanks with the correct word :

137. Many areas of the city were ............. into darkness for several hours.

(1) spread () plunged (3) aligned  (4) merged
(38) P.T.0.
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138. Anewshop............. started in that building since last week.

{1} is (2) would be (3) had been {4} has been
139. Anappleaday keepsthe ............. away.

(1) person (2} sickness (3) doctor {4) hospital
140. The flow of blood was so ............. that the patient died.

{1) adeguate (2) profuse (3} intense (4) extensive

Ouestions 141-143 ; Fill in the blanks with the carrect preposition :

141, Heacceded ............. my request.

) far () in (3) about {4 to
142. The tears flowed ..., her eyes.

(1) through (2) across {3 inte 4) from
143. Itishaifpastsix............ my watch,

(1) in (2} into

(31 by (4) inside

Questions 144-146 : Select the Part of Speech of the word {underlined) in the given senfences :

144, Ashish is pretty mistaken about his friends,

(1) Noun (2} Adverb (3) Determiner (4} Adjective

148, 1saw him walking on the pavement.
(1} Gerund (2) Verb (3} Participle (4) Adverb
146. He had words of encouragement for each one of us.
(1} Pronoun (2) Adverb {3) Adjective (4) Determiner
(34)
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Questions 147-150 ; Fill in the blanksewith the correct option :
14?‘. Please tellme............. ;

(1) Why didn’t you attend my classes ?

(2) That why didn't you attend my classes ?

(3) Why did not you attend my classes ?

(4) Why you didn't attend my classes ?

148, He............. for me for four hours.

(1} is being waiting (2} is waiting

15U 08/4(Set-)

(3) has been waiting . (4) had been waiting

149. My friend, philosopher and guide ............. abroad.

(1) have gone (2} bhas gone (3) are gone

150. You came late today ............. ;

(1) doyou? (2) don't you? (3} did you?

SECTION - II
qoE -l

war: fawlt
ﬂ%ﬁﬁﬁﬂﬁmﬁﬁfﬂ?ﬁ"ﬁ)

(4) gone

(4) didn't you?

fdfer : Prafafas aesl (1), (2), ) 90 (@) waiv & AR-AR Iehus TR R T g

R & 2% 77 & wd | 5 W@ TR B gAY
151, Prefifen ¥ & S8 A B S A E 7

(1) f&=st (2) dwpg (3) wRIS
182, wmr v = ¥ o o w2
(1) =g (2} *ree (3) W
{35)

(4) sFEn

(4) “mEfa
P.T.O.
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153.

154.

156.

158.

157.

158.

159,

160.

161.

182

ey v Rrg ol & ol ot 82

(1) asi (2) dEEE (3) e T (4 afrd
Bﬁwmﬁrﬂw-qﬁm@r%?

(1) "R (2) |Wd™ {3) WRE™ (4) IR

wd) A B Rera, T F Rew w9 # gan ?

(1) =@ {2) TFFA _

{3) 5§ (4 TET = AN

wd geh Prefafem i fra wt A wag 8 7

(1} AFEE W o) oftm R

(3) i fa=y (4) Hregd

Ry wafirt ford 7 vl § o o 8, 7 &or A, B 70 FEd B 7

1) fsor {2) S {3) @A (4) TS
Pregfaifig A Fdrey @t R0 8 7

(1) ¥ (2} = 3) & (4) A
R § AER Hod: 7 ¥ 7 |

(1) &m (2) ¥EH (3) AT - {4) WO
Prefufg § | ara<e oo 2R 8 7
(1) @ (2) T 3) 7 (4) @

ax B § B af freeT SERY WAy @ U wed R B B - B
FEE 7

(1) = 2) 7= (3) R (4) TR

A WY gaMd S ¢

(1) B&® (2) fw (3) fBe (4) R
| (36)
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163. w2 9= =gfa &

| {1} = (2) g (3) g (2) W
164, v = @1 =9H Fifor
(1) qrdt 2y e (3} =gt (3) Fefy

165, ‘gver &1 w8 A-Rede g 3 2
(1) 9=% + =i (2) g -~ =TaAf (3) g7 + ¥ (4) 4= — Tt

166. =it & wf 9l gaar & 7
(1) 5= + AT (2) T+ 7+ Afa
(3) 37 + ~ife (4) ¥q + AfF

167. =1 4 4 Fw e Fisy o1 wuimard e 98 & 2
{1} Frag (2) IHf S Bl (4) 9

168. s & & 991 7= Tor 57 gotaar T8 E 7
(1) rgrer (2) Or&Esy {3) 994 (d) HHE

189, oy &= AT B Ty o Wl e e Wi
{1) eaT=I (2) g (3) sy CAREL G

170, *aﬁmaﬂvﬁaﬁﬁmaﬁma%%vw@ﬁmwﬁﬁﬂﬁﬁm:
(1) Fog (2) waafy (3) dogd (4) THeTYA

171, 2= Soell 8 w9 s wdl o T 2 7
(1) 37 - (2) BreT (3) § T {4) TH $H

172.  grodpem’ # ®H-91 aw e & 7
(1) (2) wr (3) v (4) WiTd

(37) P.T.0.
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173. 'm @eFT JETR ¥ e ¥ @R 7

(1) feer g (2} TEE A

(3) U f99ER (4) R
174, gl = T — e o W @ Tl B

(1) frae e vy (2) fag=rém =i

{3) T=E B 4) TR-FER AA
175, waaas S0 afeas R 9 A uged gR E 7

(1) wHaas () fega= (3) TEEEA (4) wiaga=
176. i, PRI 1 WAR 41 o & — % oA Ew € 7

(1) warde warz B () &ard werE fgad!

(3) ot Rig (4) TR G
177. Brerfafae S @09 ofa B @@=t 5 a7 fomm an ?

(1) =TS & uRar (2) amaTe f2=

(3) wRa "R | (4) S-S
178, goeh @ F R afyer R s E e 5 7

(1) w<vET {2) arah

(3) oo W= (4} ereE HTE

179, <o o 9d BEm e w7
{1} 3T {2} e | (3) | o {4) &

180, R ¥ FE-H WA ggE 27
(1} FHERT (2) wEaie (3) TYoN (4 ST

(38)
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spfeat & forg frdw
(sﬂgﬁazﬁrzkmmgﬁwamwmﬁﬁg@iwm:ﬁﬁﬂfﬁaﬂmmﬁaﬁé’l%{ﬁ)

1.mgﬁaﬁﬁaﬁ$wfﬁ%zﬁwﬁﬁaﬁﬁ%nﬁﬁﬁmﬁwﬁwé‘sﬂ?ﬁé
mf@iaﬁ%:gﬁﬁﬂmmaﬁﬁsﬁtﬁwawmaﬁﬁ%aﬁm
wqet WERTH @Y GEY RETET AR IR

s whem voe B fYGET TRT WANTF F afRen fEm m o ww e N gE BT
e H A T

ﬂ.ﬁ-ﬁmﬁﬁmﬂm%tWﬁﬁﬂ?@’&ﬂ?#ﬂﬁﬁﬁlwaﬁ?ﬂﬂ?ﬁ
Ry WA FI IOR-UF BT & genwT oy @@

8. 3T FFEAT qAT GACYA P AWE gy yEeoryw gv 4 @ FuiRa wm
R o |

5. mwaﬁyﬂﬂgﬁwhﬁmwmmwﬁmaﬂrﬁﬁ#gﬁ
#t aEr v ¥ oel-ue avew ) I FELQReT # HAE g W B T
ot vl I ford

6. aflo Wio F¥e YF TR AHAG @G, WE-gRae Wem T T v (@ w1 ) o
m—gﬁﬂﬂmmﬂwmmomamnﬁﬁmaﬁﬁrﬁzﬁiﬁmﬁéﬁaﬁ
Al w3 2

?.mmﬁmﬁﬁmwﬁﬁmmmﬂwmmww
SFER R T R W SR |

a.nﬁ-gﬁﬂwﬁmmﬁmqaﬁﬁﬂﬁwﬁﬁﬂﬁﬁlmmaﬂmmﬁ
fard v} Tov-vd P el ofg @ 9pF Y 7 gv %) aTved @ OAaR 8 W
g T frde & agew U o T Y B

9. yIE WO @ TR & T oS T B gW @l g Y| U A i el B e B
R AT UF I 0 I AR UR 9% SER A AT SR

10. corg F ¥ oo A e 3T SfT wow qear 94 @7 g g ofy e fE e
1 ST FEF 297 oiEd £ O wetud 9t & aFm R i e gl B "l 91 <
S HEl TR I s R

11.30 = & R 39 yfoe F gaEys @ S A 7S o oftE wiE 7= #
WA F .

12. TR B SR BE sfo THo e TTRTT & wdE yaT F o |

13. T T BN YEW TOHT RaT W 9 S @ S T e

14, 9F% o snett Them ¥ e wmAl B wdRt wRar & @ g PwRurm gw et
3T H/ B W B e
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